Word Problems Practice

Name

1. The sum of three consecutive even numbers is 66. What is the smallest of these
numbers?
atard fart = 65
3&6 6
e ~ 60

—
2. The sum of three c%nsecﬁlve odd numbers is 63, What is the smallest of these
numbers?

ar et i 63 a=19
3+ 6 < 63
-6 -0

P

A square carpet covers 37.5% of the floor area of a rectangular room, as shown below,

i 12m i

5m

What is the side length of the carpet above?

Qx% 16 a
| | 2
P 9 = ©O.375 xT6 = 36~

NET 6 =6

37.57
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4. Sam has a total of 55 coins. They are made up of nickels and quarters. If the
total value of coins is $6.55. Determine the number of nickels and quarters that O

S R e s
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s 4 355 =655 7T - g0
5(SSg) F A5 T 655 // 20  Zo
175 - S5 rdsg = 655 gr- 19 f\:.3C

5.
Tara, Jennifer, and Mindy donated some money to a charity. Jennifer donated twice as much
as Tara, and Mindy donated 510 less than Jennifer.

If the total amount of money donated was $50, how much did Tara donate?

T,,[ ;ZT% CQT’{D SO
sT— (0 = S50
5._,{,10 4 L0

ST - 60 (j
T <19 _

{f

6. The length of a rectangular field is six more than the width. The perimeter is 42 m.
What are the dimensions of the field?
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o 7. Two numbers total up to 28. If you double the first number and four times the
second number your new total is 92. What are the two numbers?

il 2 T =A%
FhyT s ng ~q;>

dxt o, =g /5—64—2 =10
225D +9 :Cr’l 36 3»;5

8. One numberis 5 times greater than another. If you subtract T0 from both
numbers their sum will be 118. What are the two numbers?

Xisg x«9+d ‘”5

o G B Fp R 1%
6y = 139

T2 3

@

3y § 535 321
3~ 30 ER R
=0 ooty

11. A collection of 33 coins, consisting of nickels, dimes, and quarters has a value of
$3.30. If there are three times as many nickels as quarters, and one-half as many
dimes as nickels, how many coins of each kind are there?

ntdig = 33 coins =0 Lod
Sy jody X% 330k T

O(é‘) + 5 (‘%> =830 3044 3001 SO/

= 1960
5 - llon =198

300, 3d% 500 g0 | n=13
S ‘. Jrc I d= 9 _ @






